EAZAROZEBERT — 2 N—XIBISH—F 201747898 (A) 3@+ =4H

ViR +>5% 3/t 500AT 4 [HETE] T= ‘ ] 2 ‘ [(EErmE] — |2 (£ 16000 &
[~®4] 1% :7,500,000 @ ~ 23 :3,000,000 ™ ~ 33#:1,900,000” ~ 4 3#:1,100,000 5 #& :750,000 [
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

; 4 3 | fEKHE— 1:33.3 11-11-10 [34.1| 91.8 | 2 456 | FREARE (BXR)
117]lg|FrL7=% 52.0 (-) (44) |H- Ho Y27 ENAEK

L:Fq=TANNT N B:TIE5NS H—L—-JvX> - T7—LARS
it 3 | K2 1:33.3 10-9-8 [34.3]91.7 | 6 448 | EEHIF (ER)

2 7 Fh/ST—Ib 52.0 (F) -2) (%) ¥—77—-X

LN-E>TYv— B:ILT7FvRT—FK 799577 — L

Soa sy . M. ¥4—0O .33, 4 . . HhE— (EXR)
3 NESPPSIED it 4 M7 1(13/32>4 2-4-3  |35.0| 90.3 | 1 (4218) (H)E%sgﬁ
R:F4=T14>nNo B:I—>>aT7— AEH
N s BEREN :33. -9- . . WMKER (ER)
alzl g | T AFN—byLy i 5 i 1(323)7 9-9-10 |34.4| 87.5 | 7 (4136) éﬁg%
L:€r/0704 B:FAHTAI2K HET7—L
A ; B 3 | HEE 1:33.7 7-55 |35.2]86.9 | 3 462 | KAREEE (ER)
5 3|8/ T4 —T7 £250.0 (2 E) (-10) | ) /052
RFa—TALNT N BEITUR RS DS
LI L — 4t 4 | FIEBZ 1:33.9 5-5-6 | 35.1| 85.1 | 5 448 | BEHEZ (BR)
6/8l11|7T>3Ib—2 55.0 ) -6 | W v
RZFAT—IE B:FI—La-) ARET21-T7—L
4 3 | BAUGAF 1:34.0 1-1-1 35.8| 81.4 | 4 466 | FHE— (BR)
7|8/5(7F7 7% 52.0 (172) o | BHEEE
RGATAS v — BidrpAALy b5T HET7— L

i 5 4 5 | B2 1:34.0 7-8-9 [ 34.9| 84.2 | 11 436 | BREBFIZ (RR)
EH 6| ®II>T2LH— 55.0 (%) (cay | R SEXNTIHKH—EZ

kvt xex BYIXILA— MEFESE
9l1!1 ‘73'?*‘/3—75‘7\/ o 3 5@2_6(})%%1? (11:314/.5 57-6 | 35.4| 81.7 | 10 fza) gg‘gggi ®=R)
Lib—trhTLERY B:Yavia—-vM4> ERR-2
wolgliol Fvyvro7Ly [B.] ) o4 HI%%%% (11:3;/.8 2-2-3 | 36.1| 76.1 | 8 (4;4) g%g%;ff)
v nyarh7z BT RIAYTLY vl SN
]4 Z:\zg;;_/w fo4 | MEHK (12314/2% 422|366 71.0| 9 (i?i) %E%éz%
@ %1 L
Erh 46.9-35.1
NE>2A L | 12.4-11.2-11.3-11.5-11.8-11.6-11.7-11.8
@ 11— F—EBIBML
13—F—
23 =7"= 5(2,10)4(1,11) (3,6)-9,7,8
P =zr= (¥5,4,10)2(3,11)1,6-(7,9)8
41—F— 5,4(2,10)3(1,11)7,6(9,8)
[ /N2
BB 8 310 | [ 74 K 7-8 800 P & 6-7 1,890 & 2-7-8 2,040M
7 B 8 140M 2-8 220 5 = 7-8 2,560 3 8-7-2 12,990MH
7 310MH 2-7 700M LS 8-7 3,850M
2 130M

ABICOVWTRDTEEERROODE. TR LIV,



